

Solutions

①
$$\left[\begin{array}{cccc|c} 1 & 6 & 2 & -5 & 1 \\ -1 & -6 & -1 & -3 & 1 \\ 2 & 12 & 5 & -14 & 4 \end{array} \right] = \left[\begin{array}{cccc|c} 1 & 6 & 2 & -5 & 1 \\ 0 & 0 & 1 & -8 & 2 \\ 0 & 0 & 1 & -8 & 2 \end{array} \right]$$

$R_1 + R_2 \rightarrow R_2$
 $-2R_1 + R_3 \rightarrow R_3$

$x_1 = 1 + 5t - 2(2+8t) - 6s$
 $x_2 = 2 + 8t = -3 - 11t - 6s$
 $x_3 = 2 + 8t$
 $x_4 = t$

② $\det A = 4$

$$A^{-1} = \begin{bmatrix} \frac{3}{4} & -1 & \frac{9}{4} \\ -\frac{1}{4} & 1 & -\frac{7}{4} \\ -\frac{1}{2} & 1 & -\frac{3}{2} \end{bmatrix}$$

③
$$\begin{aligned} -1a + 3b + 2c + d &= 0 \\ a - 2b + 2c + d &= 0 \\ 2a - b + c + d &= 0 \end{aligned}$$

$$\left[\begin{array}{cccc|c} -1 & 3 & 2 & 1 & 0 \\ 1 & -2 & 2 & 1 & 0 \\ 2 & -1 & 1 & 1 & 0 \end{array} \right] \rightarrow \left[\begin{array}{cccc|c} -1 & 3 & 2 & 1 & 0 \\ 0 & 1 & 4 & 2 & 0 \\ 0 & 5 & 5 & 3 & 0 \end{array} \right]$$

$R_1 + R_2 \rightarrow R_2$
 $2R_1 + R_3 \rightarrow R_3$

$$\rightarrow \left[\begin{array}{cccc|c} 1 & -3 & -2 & -1 & 0 \\ 0 & 1 & 4 & 2 & 0 \\ 0 & 0 & -15 & -7 & 0 \end{array} \right] \rightarrow \left[\begin{array}{cccc|c} 1 & -3 & -2 & -1 & 0 \\ 0 & 1 & 4 & 2 & 0 \\ 0 & 0 & 1 & \frac{7}{15} & 0 \end{array} \right]$$

$(-1)R_1 \rightarrow R_1$
 $R_3 - 5R_2 \rightarrow R_3$
 $(\frac{1}{15})R_3 \rightarrow R_3$

(see end of soln.)

$$\rightarrow \left[\begin{array}{cccc|c} 1 & 0 & 10 & 5 & 0 \\ 0 & 1 & 0 & \frac{7}{15} & 0 \\ 0 & 0 & 1 & \frac{7}{15} & 0 \end{array} \right] \rightarrow \left[\begin{array}{cccc|c} 1 & 0 & 0 & \frac{5}{3} & 0 \\ 0 & 1 & 0 & \frac{7}{15} & 0 \\ 0 & 0 & 1 & \frac{7}{15} & 0 \end{array} \right]$$

$R_1 + 3R_2 \rightarrow R_1$
 $R_2 - 4R_3 \rightarrow R_2$
 $R_1 - 10R_3 \rightarrow R_1$

set $t =$

$a = -\frac{5}{15}t$
 $b = -\frac{7}{15}t$
 $c = -\frac{7}{15}t$
 $d = t$

$a = -5$
 $b = -2$
 $c = -7$
 $d = 15$

$-5x - 2y - 7z + 15 = 0$

④ a)
$$\begin{bmatrix} \cos\theta & -\sin\theta \\ \sin\theta & \cos\theta \end{bmatrix} = \begin{bmatrix} \frac{\sqrt{2}}{2} & -\frac{1}{2} \\ \frac{1}{2} & \frac{\sqrt{2}}{2} \end{bmatrix} = T_1$$

$T_2 = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$

$$T_2 T_1 = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} \frac{\sqrt{2}}{2} & -\frac{1}{2} \\ \frac{1}{2} & \frac{\sqrt{2}}{2} \end{bmatrix} = \begin{bmatrix} \frac{1}{2} & \frac{\sqrt{2}}{2} \\ \frac{\sqrt{2}}{2} & -\frac{1}{2} \end{bmatrix}$$

⑩ a) Show: $\det \begin{bmatrix} 1 & 0 & -1 & 0 \\ 0 & 1 & 1 & 1 \\ 0 & 1 & 0 & 0 \\ 1 & 0 & 1 & 1 \end{bmatrix} \neq 0$ $\begin{vmatrix} 1 & 0 & -1 & 0 \\ 0 & 1 & 1 & 1 \\ 0 & 1 & 0 & 0 \\ 1 & 0 & 1 & 1 \end{vmatrix} = \begin{vmatrix} 1 & 1 & 1 \\ 0 & 1 & 1 \\ 0 & 1 & 1 \end{vmatrix} - \begin{vmatrix} 0 & 1 & 1 \\ 0 & 1 & 0 \\ 1 & 0 & 1 \end{vmatrix}$
 $= 0 + 1 = +1$

b) $3 \begin{bmatrix} 1 \\ 0 \\ 0 \\ 1 \end{bmatrix} + 0 \begin{bmatrix} 0 \\ 1 \\ 1 \\ 0 \end{bmatrix} + \begin{bmatrix} -1 \\ 1 \\ 0 \\ 1 \end{bmatrix} - 2 \begin{bmatrix} 0 \\ 0 \\ 1 \\ 1 \end{bmatrix} = \begin{bmatrix} 2 \\ -1 \\ 0 \\ 2 \end{bmatrix} \Rightarrow \begin{bmatrix} 3 \\ 0 \\ -1 \\ -2 \end{bmatrix}$

⑪ $\det(\lambda I - A) = 0 \Rightarrow \lambda^3 - 2\lambda = 0$

eigenvalues: $0, -\sqrt{2}, \sqrt{2}$

eigenvectors: $\begin{bmatrix} \frac{5}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} \\ 1 \end{bmatrix}, \begin{bmatrix} \frac{5(-4+3\sqrt{2})}{5\sqrt{2}-6} \\ \frac{2-\sqrt{2}}{5\sqrt{2}-6} \\ 1 \end{bmatrix}$

$\begin{bmatrix} \frac{5(4+3\sqrt{2})}{5\sqrt{2}+6} \\ \frac{-2-\sqrt{2}}{5\sqrt{2}+6} \\ 1 \end{bmatrix}$

⑬ $\vec{r}_1 \cdot \vec{r}_2 = (2, -5, 0)$
 $\vec{r}_1 \cdot \vec{r}_3 = (3, +4, -1)$

$\vec{r}_1 \cdot \vec{r}_2 \times \vec{r}_1 \cdot \vec{r}_3 = (5, 2, 7)$

$5(x+1) + 2(y-3) + 7(z-2) = 0 \rightarrow \boxed{5x + 2y + 7z - 15 = 0}$